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1. Dual FPGA communication

I. master:

Block diagram:
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II. slave:

block diagram:
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block diagram:
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state diagram:
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lext_notice = notice:

case(state)

ate = (request)? state wait_to_send_ack: state wait_rqst
tice = 1'b0;

ack = 1'b0;
next_data = data;

next_start = (request)? 1'bl: 1'b;

state_wait_to_send ack: begin

= (done)? state wait_data : state_wait_to_send_ack;
(done)? 160z 1'b1;

next_ack = (done)? 1'bl: 1'bO:

next_data = data;

next_start = (done) ? 1'b0 : 1'bl3

state_wait_data: begi
next_state = (valid)? state_wait_to_send ack 2 : state_wait_data;
1"h0;

(valid)? data_in : data:
ext_start = (valid)? 1'bl: 1'b0;

state wait_to_send ack 2: begi
next_state = (done)? state_wait_rqgst : state_wait_to_send_ack_2;
ce = (done)? 1'b0: 17bI;

k = (done)? 1'b0: 1'bl;

next_data = data:
next_start = (done) ? 1'00 @ 1'bl;
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2. The slot machine

Block diagram:
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State_control

Block diagram:
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always @ (*) begin

if(up)

nxt_dir = 1'bl:
else if(down)

nxt_dir = 1'b0;
else

nxt_dir = dir;

end
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always @ (*) begin

if(A_upward >= 10'd240)

#7387 A_upward ~ B_upward ~ C_upward # -+ B]7;& /L #

g v 3| 0 s b

nxt_A_upward = A_upward + A_state - 10'd240;
else

nxt A upward = A upward + A state;
if(B_upward >= 10'd240)

nxt_B upward = B upward + B_state - 10'd240;
else

nxt_B_upward = B_upward + B_state:
1(C_upward >= 10'd240)

nxt_C upward = C_upward + C_state - 10'd240;

else

nxt_C upward = C_upward + C_state;

end
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always @ (*) begin
if((upldown) = 1'b0) begin

if(counter = 10'd0)
next_counter = counter;
else if(counter = 10'd1000)
next_counter = 10'd0;
else

next_counter = counter + 1'bl;
end
else
next_counter = counter + 1'bl;
end
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